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¢ )1. How much rent did the woman pay?
A. $ 450, B. $ 600.
C. $ 8oo.

( )2. What's the man'’s \s\uggestion?
A. Making a plan.
B. Helping her solve the problem.
" C. Dealing with teaching.
( )3. What can we know from this conversation?
A. The man knows Mr. Green’s uncle is a millionaire.
B.. The woman doubts about the source of the
Green’s income,
C. The man knows the Greens well.
( Y4, What is the man’s idea of smoking?
A. Tt will damage the health.
B. He: can resist 'smoking.
C. Smoking makes him comfortable.
(- )5.What can we conclude from this conversation?
A. They both don’t like American literature,
B. They both like American literature,
C. They both like English literature,
BT (3t 1z /ME;RNE L5 5 RS 18 5)
R 4 BOMIE. SEXHEEAL/ME, W T
H9 AB.C =N899 o ik H B A R TR, I AR 7E A8 B A8 B AL
B. DSBS, Ao i E R ik & /NEL BB 5 B
B TS5 A6/ 1 5 BRI TR I S BRI
. |
WrEE 6 Brxig, HAS 6 B 7 BA/ME.
( )6. What does the man think of the woman?
A. The woman is a wonderful cook,

B. The woman is tired out.

C. The woman runs fast,
( )7. What can we know from the conversatién?
A. The woman is worried about the dish.
B. The man is worried about the dish.
C. The man is expecting the dish.
WTEE 7 BExtiE, EAESE 8 B3 10 =AML
( )8. Where will the two speakers go?
A. Go to a hill
B. Go to the sea shore,
C. Go to the farm.
( )9, What does the man take?
A. Tubes of paint.
B. Easels.
* C. Sketch books,
( )10. What will the woman paint?
A. The beautiful farm house with a little brook.
B. A big tree with a little breeze.
C. Farmers who are stacking hay.
WS 8 BE%hid, MASE 11 24 13 =AM,
( )11. What are the two speakers talking about?
A. The man’s new house,
B. The woman's new house,

C. The two speakers’ new house,

( )12. How many rooms are there in the house?
A 5 B 6
C.7

( )13. What is near to the house?
A. A hospital. J
B. A park.
C. A school. )
WrE 9 BEXHE, IS 14 B 17 mAVME,
( )14, When did the football match begin?
A. A moment ago. " B. Half an hour ago.
C. After they arrived. V
( )15, Who gave 5 long shot, but missed the goal?
A. No. 3 on the red team,
YB. No. 9 on the red team. -

C. No. 5 on the white team,
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( )16, What is the score of the football match?
A 2.2, B. 0:2.
C. 0:0
( )17. What do the two speakers think of the match?
A. They both think it is just so-so.
B. They both think it is excellent.

. . C. One of them doesn't think it is exciting.
F=F(H3/MEHNMNELS D, KD 4.557)

W F E—B b B M 5 18 BB 20 ZAMMEME RN
Se8 B/ MR AR WTREHE, 0RO R
AN, B/ 5 B4 IRSEIS BB Y 15 BERINTES
A, A B RHEBE .

Open University in Britaih; a very good method to

18. education,

In 1963 A plan for a “university of the air” came up.

By 1969 |The plan was well 19.

The Open University had received forty

By 1970 |thousand 20, and only twenty-four,

thousand could be accepted.
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Wi 5 BxtiE. BEXEEA—A/ME, W TS
# A.B.C :Aﬁm*ﬂﬂiﬁﬁﬁ@i,#ﬁﬁﬁﬁﬂg*ﬁfﬁ
B. WsEEBXHEIE REA 10 B0 ity 16 o [ & A 2 /ME
BT —/ME, BBIHEE—H.
( )1. Where did this conversation most probably take
place?
A. At an office. B. At an airport.
C. In a snack bar.
( )2. When could the TV have been repaired?
A. Friday afternoon. B. Saturday afternoon,
C. Friday morning.
( )3. What does the woman mean?
A. She won'’t turn down the radio.
B. Sheis tufning a deaf ear to the man,
C. She will turn down the radio. .
( )4, According to the man, what does he like to do if

possible?

¥

A. Toseca movie.

B. To make a good plan,

C. To stay with the woman.
( )5. What news did the woman get from the man?

A. Sam will leave for New York very soon.

B. Sam will leave Los Angeles very soon.

C. Sam will leave for Los Angeles soon.
BoW(H 128 8NE L5, H5189)

WrTE 4 BXIE. SEBRXERAEIJLA/NE, WGP T4

8 A.B.C SAEEI0 b 3t tH BB 00, 45 28104 00 4 DA
B VB AT AR A B B AN BN 5 B
BTSSR, B/MEK A 5 B MR BT e, BESHEEM
i .
WrHE 6 BUxdiE, 85 6 25 7 HADME.
( )6. Why did woman make the telephone call?

A, To find out the best way to go to New York.

B. To find out information on traveling by bus.

C. To find out the cheapest way to get to New

York,
( )7. Is the woman going to take the bus? ~
A, Yes. B. No.

C. Hard to say.

WisE 7 BOxHE, [ 8 B 10 =AVME,

( )8. Where does this conversation take place?
A. At a booking office. B. At a museum.
C. In a record store,

( )9. On which day will Song zuying’s Vocal Concert be
held? |
A. The 28th,
C. The 29th.

B. The 30th.

()10, How much would the man like to pay?
A. 60 yuan. B. 120 yuan,
. C. 180 yuan.
U5 8 BExHiE, FIAS 11 B4 13 =4VME,
( )11, What did the man do yesterday?
A. He had a rest.
B. He took some exams.
C. He looked for jobs.
( )12, Why does the man want a job?
A. Because he needs money.
B. Because he needs experience,

C. Because he is out of work now.

&
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( )13. Where can Mark find job information? ( )1. What time is it now?
A. On television, B. In the paper. A. 8:00, B. 7.55.
C. From his friend. C. 8:05.
Wrs 9 Boxtis, A 14 25 17 IAVME, ( )2.What is the man’s job?
( . )14. Where does the conversation probably take place? A. A waiter, B. An operator.

A. In the laundry. B. At home.
(O in the office. .
( )15#How many days will the woman wear the same
shirt?
“A 2. B. 3,
C 4
( )16. What is not mentioned in the dialogue?
A. Trousers, B. Socks.
C. Blouses.
( )17. What can we know from the conversation?

A. The two speakers always keep clean.
B. The two spealérs are a little lazy.
C. The two speakers run a laundry,
B=F(HIME;BMELS S, HD455)
‘ W T — Bk R, #5818 2EE 20 ZA/MEMERANE
Ses 5/ MER B =B, UPRERRT, A I B B A
AN, /M 5 FO T SEIR B/ IR H 15 BB A
FHIE) . Ak BrbtRHE T . ’

Weather Report

In the Southwest | Cool to warm with 18.

Around London |Dry but cloudy at times.

" In the Midland

Cloudy with 19. at times,
' 20. : for probably much of
North Vales
the day.
In South Wales |{Windy.
Further North
Expecting snow.
in Scotland

(=)

E—H(HESMEENMNE LSS, ERTOH)

O 5 B, GBS EE — A NI, W BT
) ABLC =N 530 R 5 H BB S0 , A 75 198 A0 B A2
B, WSBBOHESE AREA 10 Bl R I M4 3 /ME
FIFBET —/ME, BB —R. |
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C. A salesman,
( )3. What are the two speakers talking about‘_?
A. How to go to school.
B. How to take a school bus.
C. The legs.
( )4, Why does the woman like May best of all?
A. Because she can sniff fresh air,
B. Because she enjoys flowers.
C.. Because she likes the weather.
( )5, Who has the woman called to come over?
A. A plumber. B. An electrician.
C. A salesman,
A (3 12 /ME; /NI 1.5 53,85 18 4Y)
T 4 BXE. BRXEFAEILN/DNE, NEFETA
# A.B.C = AT A ik Y B AR T, I AR 78 045 B 4 E 42
B. WrEBXHERT, 4% A B [ B & AN /NE L B/NE 5 B
M URSESR B/ MR A S PR R E T, BB AR
.,
WrSh 6 BEXFiE, [ 6 25 7 BA/ME,
( )6. Where does this conversation probably take place?
A. At a cinema, B. At an airport.
C. At a bus stop,
( )7. What are Nancy and Bob going to do in the evening?
A. They will get together.
B. They will go to a restaurant for dinner.
C. They will seé a movie together,
WrsE 7 Bextid, [ME S 8 B 10 =ANME,
( )8. Why does Mr. Bond make the telephone call?
A. He wants to buy some books,
B. He plans to have a party.
C. He wants to book a room.
( )9. How much does Mr. Bond pay for the room?
A. $1080. B. § 540.
C. $1600.
( )10. What will Mr. Bond probable do tomorrow? |
A. Visit his mother. '
B. Stay with his mother,
C. Stay at the hé_tel.
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( )11, How many things does the man advise the woman
to buy?
A 2, B. 3.
C 4.
( )12. What is the weather like now?
_ A Wamm. B. Cold.
C, Hot. 4

(  -)13. What things does the woman buy?.
A. Socks and jumper,
B. Scooter and jumper.
C. Gloves and scooter.
U 9 BE, EAH 14 B4 17 P94/,
( )14, What does the woman want to do?
A. She wants\ to take some pictures.
B. She wants to buy some pictures.
C. She wants to develop some film,
( - )15. What service doesn’t the woman need?
A. Enlarge a photo. B. Copy a photo.
C. Make a print.

( )16. How many rolls of film does the woman buy?
' A 2 B. 4.
C. 6.
( )17. How much should the woman pay in total?
A $ 56 B. $ 8.
C. $ 100.

= (H3/ME;BNME LS 2, #S 4.55)

W T E— Bk B 5 18 B 20 =AVMNERERANE
SR, /MBS AR . UTRDRERT, UK A B TR B A
AN /M S B TR » /MBS 4 Y 15 BB INES
Rl 4 BURRRLE P .

Teaching Your Children

* To study hard to get into good schools and start good|
18.

% To exercise and eat well.

% To have some form of - 19, to protect

themselves and have more 20.

" |#¢To form good money habits,
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E—15 (3 5 /VE; /NI 1.5 5, i85 7.5 5)

T 5 BxiE. BBREREA—A/NE, N B
# A B.C =S5 i ) B A5 T » I b 2 1245 9 4 LA
B. WSBRIHEE REA 10 By R [ &% %/l
BT —/ME. BEXENE—R.

( )1, What was the woman’s sister?
A. A teacher. B. A journalist.
C. A worker.
( 2. If the man buys the cheaper ones, how much money
will be left?
A. 2 dollars, B. 2.5 dollars.
C. 4 dollars.
( )3. How did Bill go to New York?
A. By car. B. By plane.
C. By bus.

C, " )4. What are the probable relationship between the two

speakers?

A. Teacher and student.

B. Classmates.

C. Mother and son.
( )5. What are the two speakers talking about?

A. Idiots. B. People.

C. Ways. .
FoF(H 12088 LSS, #S 185)

R 4 BXE. BERXHER A JLANE, W 4

9 AB.C = AN B0 b i ) B R 0, AR 76 348 8 AR R AL
B. WEBXTER, AROK A B E B R AN /NEL BN S B
B ITSERE &/ MER A ) 5 DR IAEE BT ] . EBHETEM
.
W5 6 BLxiiE, S 6 B 7 WA/ME.
( )6. Why did the man have to ask his father come to

school?

A. Because the teacher was angry.

B. Because he cheated in the exam,

C. Because he smoked in the school.
( )7. What was the woman's opinion?

A. She can’t agree with the teacher.

. B. She thinks the teacher is right.

C. She agrees with the man,

&' <
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TSR 7 BEXHE, EE R 8 25 10 =M.
( )8. Where is Kate probably answering the call?
A. At home, B. In her office,
C. On a public telephone,
( )9. What is Kate going to do on the weekend?
A. Seeing Bill '
B.~Locking after the baby.
T. Not being decided.
( )10, Wher;‘ do they finally decide to meet?
" A. Next Wednesday.
B. Next Tuesday evening.
C. Next weekend.
W4 8 Brxtid, &S 11 25 13 =A/ME,

( )11, Where does the man want to live?

| A. In the suburb. B. In the downtown.
C. At home. v

( )12. What does the wo\man think of the school?
A. Very good. B. Just so-so.
C. Bad.

- (’ )13. How did the man sleep last night?

A. Nicely. B. Not well.

C. Very badly.
WSE 9 Befi, [ 14 25 17 IWA4/ME.
( )14. Which kind of the following balloons does the man
" think the best for sport?
A. Weather balloons.

C. Hot air balloons.

B. Gas balloons.
( )15, What is the main reason that most balloonists use
hot air balloons?

A. They are safer.

B. They are larger.

C. They are hard to damage.

( )16. What should the balloon pilots be careful to?

A. Watch for changes in weather.

B. Check if balloons are good enough to operate,
C. Make clear if balloons are full of enough hot air.
(  )17.The first flight to cross the Atlantic Ocean
successfully took place.
A. 31 years ago B. 100 years ago

C. 50 years ago

SV (H3/ME;E/ME L5 5, WS 4.5 5)

W FE—BA R W5 18 5 20 =A/MEMFE R

¥ B/MENET =R, UTEORET, R A B R B

AN/ 5 B8 DTS2 45 /IR 1Y 15 BB ARROES
R, ABAR PO .

Chop_sticks
% They are two pieces of wood that are almost 18.
at one end,
*Ivory, Gold chopsticks were used for 19.
Y Chopsticks are held between one’s 20.

(H)

FE—FH(HS/ME;E/NEL553,H27.55)
Wi 5 BXiE. BEBXHEE A —A/NE, W T A

1 A.B.C =A% H B AER T, HAR7E A8 M9 4 R AL
B. WWREBIMERS,REA 10 Booh it E R BEH %NS
FIBBET—/ME. BBEXEUE—RE.
( )1. What will the two speakers do first?

A. Search for the new dress.

B. Finish the paper.

C. Look for the paper.
( )2. What day is it today?

A. Friday.

C. Sunday.
( )3. Where are the two speakers?

A. In a snack bar, B. On a farm,

C. At the man’s house.

B. Saturday.

( )4. How do the cat and the dog get along?

A. In a friendly way.

B. They often fight against each other,

C. They don’t seem to like each other.
( )5, What does the man think about the price of the car?

A. Reasonable, B. Too high.

C. Too low.
FoW(H 12/ME;B/MNE LS B, HD 185

O 4 B, BB A A LA/, W

i) A B, C = A0 b i i B AR 28 0, Hh AR 72 B B M RL AL
B. UrgBXE A, KK A o E R AN, B/NE 5 B
B TSRS & /NI 5 B AE BRI, BERHER
- ' gt
Wr5H 6 BIXiE, [ 6 B 7 WAL
( )6. What is the woman?

A. A manager,

B. A secretary.

C. A visitor to the company.
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( )7. Which phone number should the man dial to get Mr
Smith?
A, 77328905. B. 77231095.
C. 77238995.

U5 7 BN, VS 8 B4 10 =AML
( )8. When did the man write to his brother?
- - A. Last Monday.
“ B. Last Wednesday.
, C.” Last Friday.
(79, What did the man send to his brother with the letter?
A. A photo.
C. A postcard.

B. Some money.

( )10, What’s the relationship between the two speakers?
A. Husband and wife. B. Neighbors.
C. Lovers.
TSR 8 BN, EIESR 11 25 13 =AM,
( )11. What kind oi: ‘Eable does the man want to have?
A. A table far away from noise.
B. A table near the window.
C. A table for three.
( )12. What kind of soup is recommended (#3£) to the
man?
A. Tender meat soup.
B. Fresh fish soup.
C. Just som(; vegetable soup.
' )13. What kind of pie does the man ask for?
A. A pie with vegetable in the middle,
B. A pie with chicken in it,
C. A pie with ice cream on it.
WrER 9 BIXiE, EIEHE 14 24 17 WA/ME.
( )14, What’s the probable relationship between the woman
and the man?
A. Classmates,
B. Students from different colleges.
C. Friends.
. Where does the man meet the woman?
A. Near the college where the woman studies.
B. In the shop where the man works,

C. In the college where the woman studies.

( )16. How long does the woman stay in the college every
day?
A. 9 hours. B. 7 hours.
C. 6 hours.

( )17. What can we know from the conversation?
A. The man refuses the woman’s invitation,
B. The woman often takes a bus to go to schooi.
C. The woman’s college is large.
FZB(HIME;BME LSS, BR4.59)
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A rail crash: A Inter-city express 18. a

stationary goods train,
Y Seven people killed and thirty passengers hurt.
Y Some passengers and 19. still trapped in the

wreckage.

% The front part of the train completely20,

(%)
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( )1. Who will pay for the meal?

A. The woman, B. The man,

C. Go dutch.
( )2. What is the probable relationship between the two

speakers?

A. Husband and wife,

C. Salesgirl and customer.

( )3. What is the man doing?

B. Friends.

A. He is helping the woman.
B. He is complaining about the woman.
C. He is comforting the woman.
( Y4. What will the woman first do in the evening?
A. Go to the zo0.
B. Attend a meeting.
C. See Cathy off.
( )5. Where does this conversation most probably take
place?
A .Ina bus,
C. At home,

B. In a supermarket,

&'
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( )6. How does the man feel about the delay of the train?
A. Calm. B. Glad.
é. Angry.
( )7. When will the train probably leave?
A. At 4:10 p.m. B. At4:15p.m.
C. At 405 p.m.
WTSE 7 BEXE, A 8 5 10 =4/,
( )8. What are the two speakers mainly talking about?
A. Zhangjiajie. B. Sports.
C. Mountains,
) ( )9, Which activity in the Huangshizai was introduced in
the dialogue?
A Mountain—climbing. B. River-rafting.
C. Rock-watching.

( )10. How many sites are mentioned in the dialogue?
A. Three. B. Four.
C. Five.

Wish 8 BrxtiE, EES 11 E58 13 =AM,
; ( )11, What do we know about the man?
A. He slept very well last night.
B. He didn’t sleep well last night,
C. He was scared by the storm.
( )12, What do we know about Professor Smith’s lecture?
A. The man has forgotten the lecture,
B. Many people are interested in the lecture.
C. The lecture will be canceled due to the bad weather,
( )13, What is the weather like now?
A. Stormy. B. Cloudy.
C. Snowy.
Wi58E 9 BxtiE, AR 14 56 17 WA/ME.
( )14, What do American students often do on weekends?
A. Going to bars,

B. Having dances out of their schools.

C. Having dances at their schools.

I/ &

( )15. What can we léarn about Mary and Peter?
A. They worked for the dance.
B. They didn’t need to pay for the dance.
C. They helped clean the hall.

( )16, How much money did each student pay?
A. 500 cents. - B. 2 dollars,
C. 3 dollars,

( )17, What can we know from the conversation?
A. The man had the dance last Friday.

_ B. Students like to plan dances themselves.

C. Students like eating when they are dancing.

E=H (34 3/ME;SME 159, MNP 454)
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ABC Radio
Y FM99, 86 offers a program of solely popular music.
Y FM101. 10 provides music operas as well as being the 18,
| for covering sports.
Y FM107. 98 is for 19,

v FM111, 67 is 20, new and broadcasts to

schools.
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( )1, Where does the conversation most probably take
place?
A. In an office. B. In a library.
C. In a bookstore.
( )2. Where did the speakers plan to go?
A. A school. B. A bank.
C. Their home,
( )3. Which aspect of the story does the woman like?
A. The plot. B. The ending,
C. The words.




M.

( )7. Whom did the man chat with?

ek i i MO

( )4, What do we know about the woman’s blouse?
A. It is sold at a lower price,
B. The color is her favorite.
C. It is not her size.
( )5. What does the man imply?
A. The woman is forgetful.
B. The woman is careless,

P

C. The woman easily meets him,

-
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( )6, What makes the man worn out?
A. Playing garites,
C: Searching for a project.

B. Surfing the Internet.

A. People from America.
B. People who are watching a movie.
C. People in different countries,
WrEE 7 BoxtiE, EESE 8 E5 10 =4/ME.
( )8..According to the man, what did he do before seven
o’clock?
A. He had his breakfast,
B. He went to work,
C. He did some morning exercise.
( )9. When did the man’s neighbor see him?
A, 7.30. " B. 9:00.
C. 10:30.
( )10. What does the man try to do in the conversation?
A. To prove the truth, B, To find the truth.
C. To hide the truth,
WS 8 BEXtid, M E 11 4 13 =4/,
( )11. What is the probable relationship between the two
speakers?
A. Friends.
B. Teachers and students.
C. Relatives.
)12, What will the classroom turn into?
A. A bedroom. B. A dance hall.
C. A dining hall,

2 s

( )13. What will Mary do at the party?
A. She will sing some Chinese songs.
B. She will sing some English songs.
C. She will be the hostess at the party.
WSS 9 BUME , EAFSS 14 5555 17 J0A/M
( )14. What does the speaker mainly discuss?
A. The history of Cola.
B. Soft drink production.
C. Using Cola as a drug.
( )15. How was Cola originally sold?
‘A. As a soft drink. B. As a medicine,
C. As a cooking oil.
( )16, Why did the speaker mention John S, Pamberton?
A. He sold Cola to doctors, _
B. He was a drugstore clerk.
C. He developed Cola as a drug.
( )17. How was the drug made into a soft drink?
A. By mixing it with special oils.
B. By heating it.
€. By adding soda water.,
F=BH(H3ME;HBDMELSS,ER459)
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A Festival for the dead: a cheerful 18.

% The dead are said to return home and they are welcomed

by the living.
YFood is 19, for the dead.
*Lanfems are hung outside to help the dead to 20.
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( )1. What will the woman probably do this afternoon?

A. Go to the exhibition. B. Go to a concert.

C. Stay at home.
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C )2, Where does the conversation probably take place?

A. In an office, B. In a hotel,

C. In a library.
( )3. When will the film start?

A. 6:30. B 6:25,

C. 6:20.
( 4. What did the man buy last week?

A, Jacket, B. Shoes.

C. Trousers.
( )5-What can we know from the conv.ersation?

A. The girl will stay at home,
B. The girl will try to persuade .her mother again.
C. The girl will come back early.
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( )6. What does the woman want for?
A. Some tickets. B. Some stumps.
C. Some stamps.
( )7. What can we learn from the conversation?
A. The man will find another stamp for the man,
B. The man will find another stamp for the woman,
C. The woman will buy a stamp.
WS 7 Bexib i, AR 8 B 10 =4MME.
( 38, Why is the man sleeping in class?
A, He has to study late.
B. He has to get up early.
C. He has a busy life.
( )9. How did the man probably go to school in the past?

A. By bus, B. By car.
C. On foot. .
( )10. How long does the man have to take a bus now?

A. About a month,
C. About a week.
WrSE 8 Bexiid, EIESE 11 B8 13 =4/,
( )11, Where ié the woman probably speaking?

B. About a day.

A. In a changing rouin.
B. On the phone.

C. At an information desk.

( )12, When does the club close in the evening?

A, 9:00 B. 10:00
C. 12:00

( )13, What would the man like to do in éhe evening?
A. Drink coffee, B.- Swim.

C. Change the clothes,
WS 9 BLXHE, & 14 258 17 I4~/ME.
( )14. Why did a young girl leave?
A, She got Hanhan's book.
B. She felt angry with the woman,
C. She didn’t want to wait any longer.
( )15. How soon will the book store be closed?
A. In one hour. B. In two hours.
C. In three hours.
( )16. What do we know about the woman?
A. She likes the man.
B. She is waiting for her friend.
C. She is a big fan,
( )17. What can we learn about the man?
A. He is willing to wait.
B. He is pleased to see the woman.
C. He is disappointed about his phone order.
S (3 3/ME BV 159, B9 4.59)
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Experiment on Children Swimming
v Children can become expert at 18. under|
water,
Y% Babies can pick up weights after they 19.
swimming, '

% A tricycle race can 20. swimmers that can’t

swim five yards in the water,

(M)

S—F(H5/MEHNELS S WFT.55)
R 5 BxtiE. SEXIEEA—A/MNE, NE T4

| B AB.C ZAET P 16 Y B 8T, FFPR1E A8 B L




18 242

T

O HPREHD

= JAUEHAIDA DEA,

ngaSs

B. WRGBXHERS AREA 10 Bhoh a1k F & A /M8
DT —/ME. BERIMEE—E. .
( )1. What are they talking about? )
A. Driving in England. B. How to drive a car.
C. Driving in America,
( )2. What does the woman mean?
A. She thinks highly of the concert,

B. She thinks the concert was just so-so.

P

- -G, She has not give her opinion of the concert,
( .. )3.Does Jane know Arid Brown?
A. She doesn’t know him,
B. She knows something about him,
C. She knows him very well.
( )4. What can we learn from the conversation?
A. They are neighbors.
B. They are classmates,
C. They are hot from the same country.
( )5. Where doels the conversation probably take place?
A. In a clothing store,
B. At the woman’s home.
C. In the bedroom.
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( )6. How will the girl go to school after renting a house?
A. By bus. B. On foot.
C. By taxi,
( )7. What time does the girl probably get home from
school on Thursday?
A. About 3:00.
C. About 4:00.
WS 7 BRXiiE, EESE 8 EHE 10 =A/ME,
( )8. What is the woman going to do on Wednesday night?

B. AbOUt 2 : OO.

A. See a movie,
B. Stay with her Grandma,
C. Attend a French lesson,

( )9, What is the probable job of the woman?
A. She is a film star.
C. She is a babysitter.

B. She is a student.

( )10 What are they going to do on Friday evening?
A. They are going to see a film,
B, They are going to coock dinner together.

~ C. They are going to visit Van old friend,

WS 8 Brxfid, A 11 25 13 =4/,

( )11, Where did the conversation probably take place?
A, On the street, B. In the bank.
C. In a park.

( )12, Who didn’t obey the traffic rule?
A. The truck driver,
C. Both,

( )13, What was the man?

A. A driver.

B. The car driver.

B. A policeman.
C. A witness.

W5 9 BXHE, B 14 B 17 IWA/ME.

(  )14. What is the woman doing?
A. Reporting a football game,
B. Interviewing a football coach,

- C. Giving a special report about a football coach,

( )15, How does Mr, Rovl feel about the next day’s
game?
A. Worried. B. Confident.
C. Excited.

( )16. What does Mr. Rovl say about the cup?

A. His team will try their best but there is little
chance of winning.
B. His team will win the cup even if they lose the
game,
C. He is not sure of winning the game.
( )17. Why does Mr. Rovl keep' the name of starting
players a secret?
A. He wanted every player to be fully prepared for
the game,
B. He wanted to give the fans a surprise,
C. He hadn’t made the final decision about it.
SEEF (3 /ME I LS 5, HR4.59)
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The Statue of Liberty
*18. by Auguste Bartholdi.
% Chosen to put at the -19.
Harbor,

of New York

* A syrhbol of liberty for the people who 20,
America. » ‘
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( )1. Where did the conversation most probably take
place? h
A. In a plane. B. In a coffee shop.
C. In a restauram.
( )2. What’s the probable relationship between the two
speakers?
A. Boss and employee,
B. Teacher and student.
C. President and secretary.
( )3. What caused the accident?
A. The girl was walking across the street.
B. Mr. Black was driving across the street.
C. Mr. Black was driving too fast.
( )4. What does the woman want to do?
Aﬁ To return the book.

B. To borrow a book from Laura.

C. To pay Laura for the book.

( )5. How does the man prefer to go to work?
A. By train, B. By car.
C. By bus.
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( )6. What did the woman want to buy?
A. A cheap shirt.
C. A cheap ski;'t.

( )7. How much did the woman spend?
A. 195 yuan, B. 130 yuan.

B. An expensive shirt,

C. 65 yuan.>
UE 7 B, EIH 8 B8 10 =M
( )8. Why did the girl borrow some money from her
father? -
A. To see a film, B. To watch a play.
C. To go to a concert. |
(9. How much money did the girl need?
A. Fifty-four dollars, B. Thirty-six dollars.

C. Eighteen dollars.

( )10, How many children want to go to the concert?
A. One. B. Two.
C. Three.

WTSE 8 BIXiE, B 11 25 13 =4V,
( )11, What is the tépic of the dialogue?
A. A weekend. | B. Life in the country.
C. Traveling with friends. '
( )12. Where did Alice spend the nights in the country?
A. In a farmer’s, B. In the open air. .
C. In a hotel.
( )13. How long did it take Alice to come back from the
country?
A. Half an hour. B. Four hours,
C. Four hours and a half.
WTE 9 BeXiE, EESE 14 25 17 W4~/
( )14. What is the talk mainly about?
A. The entertainment awards,
B. The Emmy Awards.
C. People’s Chéice Awards,
( )15. What draws more attention in the pre-show?
A. What the stars say.
B. What the stars wear,
C. What the stars sing,
( )16. What is the most exciting part for thé woman?
A. Losing the award, + (o - n
B. Praising the winners, '

C. Announcing the wifiness, ' -
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( )17. What can we learn about the woman?

A. She is interested in the pre-show.

B. She is not interested in all the award shows,

_ C. She is interested in what the stars will say.
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. Laws restricting for teens’jobs

Teens can not - be 18. for|
(Under 14

nonagricultural employment,

The working hours for teens can 19.

Age 14

and 15 (to 8 hours a day in the summer,

Teens can not work in a job that is 20,

Age 16

dangerous though there is no time
and 17

limit,
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( )1, What is the weather like?
A. 1t’s raining. B. It’s windy.
C. It'’s sunny. 7
)2. Who will go to Merica?

A. Lucy. B. Alice.
C. Lily.

)3. What are the speakers talking about?
A, The man’s sister. B. An exam,
C. A student.

)4. When is the office available?
A, After 2, B. After 3.
C. After 2:04.

)5. What is the probable relationship between the two
speaks?
A. Husband and wife.

B. Friends,

C. Boss and secretary.
P (3 12 /M | L. 5 5, W5 18 53)
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( )6. Why did the woman go to the countryside?

A. To spend the summer.

B. To look after her grandparents.

C. To find her friend.
( )7. What can we know from the conversation?

A. It is probable spring.

B. It is probable autumn.

C. It is probable winter.
Wrss 7 BextiE, 5 8 B 10 =A/ME.
( )8. How long will the man pl:obably stay in Beijing?

“A. One week. B. Two weeks.
C. Three weeks.
( )9. What advice does the woman give to the man?

A. Go to Beijing by train,
B. Spend all the money.
C. Go to Beijing by plane.
( )10. Why does the man accept the woman’s advice?
A. Because the woman can get cheaper tickets.
B. Because the woman will go with the man,
C. Because the woman will buy the ticket for the
man,
WS 8 BrxiiE, EAS 11 £58 13 =4/,
( )11, What are the two speakers talking about?
A. How to keep fish.
B. How to buy a tank.
" C. How to plant.
( )12. 'What is not the man’s suggestion?
A. Get some underwater plants.
B. Get a tank,
C. Get a nice bottle.
( )13. What can we know from the conversation?
A. The woman knows the fish well.
B. The man knows the fish well.
C. The both know the fish well.




